5/433] Y . -\ _0.5-05sin30"
: F- Sin 2
|

/ +--=X = [2.02°

/// ,

8

{vs = 4.38 mls (Preb. 5/i3)
w = 3.23 rodfs

Va = 3mfs = coenstant
Sy

— T
Qg = Op + g/a = QA + X XYVgjg — W gy,
. a . 'Y 4‘.38L 'Y . o
a’Bt (Sm 30 L - Cas 30:i>+ 0.5 (COS30§ +Sin 30-!)

=0 + otkx 12 (-cos12.02° { + sm lz.oz'\i)

- 3.237 (12)(~ex 1202°L 4+ sin 2027} )

Covrﬁ suwt vedhr olyebra § equate coeffitients :

L —!‘qut +33.3 = -0.250K + |2.28

§1-8ggt 02 = -LT4« =2.]
Soluten :

Qge ™ ~23.9 mlsY) o= -36.2v0d s




5//40’ gc: 9 -l-(@%)n * /a"/o)g
i ) o) : /efr/-‘/) /0) rd‘
'y ch/o)” —rw/ (a’-/o)é-_m‘
[ w Add g 3et - y
w
\\a Gzlrw™ 22 ) N
R g ‘ ] \d
. v
r - X
(a)
2 I
(ay =% ;. r'w
Bohn” g =gt |
Q) = roa¢ |
(‘°>e 3 : R
2%),5 rey |
(¢ c/o) = -ro¢ !
¢ 2 2 |
Acld § set ,er-i)-‘/' ;—rw;« re
* -7



»5//149 I w=z2.00 raafs | 1+ 06(2.09 = 1.257m/s

BiGi % Yat Yo | 5ot of nobisen - Yoy
Gives U"/‘: 0.362 m/s
23 m Ubf/-z’4"'/-5
D
<11.99° o= for'22 216,30
5 ) 3
N

(Gp), + (%) :’-@:)n *(@g,) #(95,),
9 (a),* (.'f,’,” = 0.986 m/s*
(@), = 0.6(2.09)"x 2.63 m/3*

(@ap)n = 2.9/(0.1248) = 0.0451 mfs*
- 1

-~

- (a” )
A
(ag), ¢
- ﬂ -
(2g) ,{-a.us? (%4),= 2.63 m/s* ¥ (2g)), 0.0451 s
m/s2 Sol. by vector alsebra or veelor geometry gives

- _ 539
ez 0531 me a: Dot = Do 233 T2 0,568 mys?
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5//53| For The Coesrdinatey v ) The mno-slip

[
l_
Constramby owt Vy= —rwél. Qe =-Td. Do

\
&2"‘—?0‘ ’--_53-:’0{‘0{/5
Qa 5
°<=_——F-: 030-16677‘0&/5
Use The ‘me, Oy a3 disk-fixed .
(5"2 = Yt WO 4 '\.)(Q‘
(5/l+)- aﬁ = Qo +AXC + WR(WRr)+2u XNy + A0y
]‘_n\r)red\enh 'Uo "3(« M’S r= °2+i m
Qo = 5 MIS Vpe) = 2\ M’S
W = ok rodls Gy = -N - S
524.
= =l6.bTk ved
. Is* =0 - RAT) st

Stbstitte b (5)12) § 6)K) 4 simp f
Vg =-34L ms
Ty = R~ 067§ mfs®




U= Z2x/000

5/r5 LEAT
46_[ /\)\ WY 4T T 3600 T<4O0ms
/ \l
U = T#xs000
\00((\ \T UB. 4 F600 T /G m/s
W= ew = /5 _

/ D____x 3 __5,0,/5"/'0”/5

A Y B

A\
’____40,"_7‘.‘ Y=g r wWxr+ ¥,

20( = 15/ 4 0./5k X(-40.) + U,

Yrer =206 -9 mys

('U;e/) rotatins differs From (U

axes
axes

re/ )f'ran 9/0:‘0;_7 6-V @

/

xr



5/!60] LY P be a ,ao)nf on Fhe road comcident

cer?h A, —QA=-Q $ 20X Ut By
E___A Tz_ﬁ_‘)_i?'re/ For 2cro vertica; @ccefera 79-‘..1
i Z_frel . 2
- [200x2, | = Rw
< a_=Rw* i
P Ypet = 7 R¥
For R=6318 hm w=0.7292(/0"y/"4//,1
7 -2’-(6375»[,03)(0,.,2?2”0—-7 =233 m/s

or Yo, =233(3.6)=837 km/bh



x I=(20+b)i=25¢ ft

5/lez A
5 T Bt e 2 e
__i_o::_'__._; W= /'{;06'/7-/5 01785k radfsec
% % w=0

(7N %44:5"3ﬂ/’“ v Y= 51.3(¢cos 30° / 5imr30°)
@y=-s0 £ /sec? Qa: -/10(Lcos 30°-J Srn 30%)
£9. 5114, Qqs8s + XL+ @x(@xL) + 20X Y5 * Gre/
S0 @,% ~/0(0.866¢ - O.57) 0 #(0./7#5)*k % (k5 x 25)

. T é/o./745/_v)x 2{ - /¢

(b) , oy
Q, = ~10.42( + 5104 FI/sec? it respect fo ground

I\

=A
(@) &4-35= ~10.42¢ +5.176/ = (~10)(0. 86¢¢ - 0.5)
—LT76 L +0.70; FHse® with respect ko Ak




Y= u (—sfne\j + COS@'&)
Aeor = R x VY

-—

20k x V(-sm 9\_; +Cose&)
ZA0NsmBL (uwest)
-y With ne westuard Horce
mechanism  availeble | the hall will drife

o the east (velatwe o the ground) uith

an acteleration of magnitde Qeor.
3' :/I-S Ay = 202Vsm @
|

J

—

. . L- t

$= Zagt = £ (2w sme)(v)

g = LT Sin 6 '
v

e - x’

(CLSSum es S <<L)

With = 7.292 (10°%) redjse,
4= 15 'H'/su,) k= 6o ft ¢ 0= 40°: §= 0,025 f&

(Oo ‘350 ;nn )




5/170| = z(180- '78}_),\2“ = 1254t |

Fy> (n: l25.4'% = 3t A
c= 88T (i+) ft
,yﬁ: _4'4'(_: H/SCQ.

"\l& = 4‘4"\:]_ 'Ftlsec,
_ A4
W= TZ—k = 0.244k radjs

(B12): U Vg + WXL+

Substitute 4 obts ‘
sbshiute 3 olbtim W = -22.3(1-65.7) fise

(B]14) 7 Ga =8 +AXT + WX(WXL)+ ZW XUy + Gry

Qn = . SO N
A= Tge 4TIV Atec; Gg= -0 Frge”

W =29

. 3 . :




